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Deflation

Deflation is a decline in the general level of prices in an economy. It is the
opposite of inflation, _ 1 prices rise. Deflation is rarer than inflation, but its
2 can be more severe. If deflation happens, people expect a sustained decrease
in prices and tend to postpone their purchase of durable goods, which will __ 3 the
decreasing production of manufacturers. Under such circumstances, factories are
forced to lay off the employees, which accounts for the increasing unemployment
rate, 4 In peJople’s making less money. 5 , all these factors will go into a
vicious circle, making an economy weaker.

Deflation can be caused by competition among producers of goods and services
to 6 sales by reducing their pric\es. But weak demand for goods and services is
the chief cause of almost all historical periods of deflation. In the United States
during the Great Depression, several forces acted 7  to reduce demand. Banks
had little money to lend to qualified individuals and businesses. The Federal 8
System, the nation’s central bank, failed to stimulate the economy by increasing the
amount of money in circulation. Also, the federal government sought a balanced
budget, 9 taxes from being cxft and/or overspending. All of these determinants

10 adecline in demand and thus to deflation.

1. (A) which (B) in which (C) what (D) when

2. (A)realizations (B) obstacles (C) consequences (D) motives

3. (A)giveriseto (B)give way to (C) give a thought to (D) give a shot to
4. (A)distributing (B) resulting (C) derived (D) accumulated
5. (A)Otherwise  (B) That is to say (C) In view of this (D) Eventually

6. (A)dwindle (B) dispel (C) boost (D) implement

7. (A)amply (B) tentatively ~ (C) simultaneously (D) closely

8. (A) Conserve (B) Deserve (C) Preserve (D) Reserve

9. (A) prevented (B) preventing  (C) which prevents (D) prevent

10. (A)broughtin  (B) consisted of (C) contributed to (D) agreed with
I
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opposite of inflation, 1

2 can be more severe.

(A) which

(B) in which
(B) obstacles

(C) what

(C) consequences

Deflation is a decline in the general level of prices in an economy. It is the

__ prices rise. Deflation is rarer than inflation, but its

(D) when

(D) motives

. (A) realizations
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arise
raise
rouse
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@® If deflation happens, people expect a sustained decrease in prices and tend to

postpone their purchase of durable goods, which will 3 the decreasing

production of manufacturers.

3. (A)giveriseto (B) give way to (C) give a thoughtto (D) give a shot to
GRS
(v) %
P happento ¥ %
= BB occurto #H%
= B take place = AN TV.+

(v.) FiE35
A happen to VR

by accident

by chance

accidentally
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[ #4474 ] give

give ... ahand

give ... a big hand

give ... a call /ring / buzz

give a chance 10

Give a dog a bad name and hang it.
give a. shot to

give a thought to

give birth to

give in to

Give me a break!

give off

give priority to

give rise to

R give up

give way to
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("~ cause v result from
: resultin originate from
3 ﬁ& lead to HR & #R | stemfirom BA

bring about
bring forth

_ give rise to
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© Under such circumstances, factories are forced to lay off the employees, which

accounts for the increasing unemployment rate, 4 in people’s making less

money.
(A) distributing ~ (B) resulting (C) derived (D) accumulated
[F3@474]
employ (vt.) O%m - hHET) O Ak FH)
employer (n.) (BEoe—>|-cr: fub®Eey A trainer interviewer
employee  (n.) ar -ee I A BIA trainee  interviewee
employed  (adj.) O ® % Tk
unemployed (adj.) k¥ Sh. beV... = Sb. beV out of job
J 7= beV paid off #% & i& beV laid off #% #% &

unemployment (n.) % #(p#8) unemployment rate  (n.) SEX
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O - sz = explam gwe a reason for

7 = justify © s Sth.y# @2 Sthy E& 78 dh

account for

Dt (- tbf5] ~ #F) = make up = constitute — compose
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The mobile phones sales account for one-tenth of the total business volume

Ex.: @ There is no accounting for tastes.

in Panasonic Electronics.
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Ex.: @ I like the movie (that/which) we watched last weekend.
® Hanson is the person (whom/that) we turn to when we have trouble.
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Ex.:

All these factors will go into a vicious circle, which makes an economy weaker

and weaker. (which 4% # 3T d 244 F 1) =4 "

= 7T 4 w4 which © e #27 makes 74 5;, making , ‘5
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The unemployment rate increases, which results in people’s making less B :

money.

=> 4 =% which > 2§37 results Z 5} resulting
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David is a teacher 7hat cares about his students.

= %k that » j© cares L 7} caring

David 72 48 ff] o 5+ £ 85 £ &

Susan is a great actress who is nominated for the best actress for her

performance in the movie, Days in the Produce Wholesale Market.

= % =% who > is 2 being X &6§

=> ... a great actress nominated for..
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The Hanson’s, who had bought ten houses, decided to buy a mansion.

= % % who ° 2 had 75 having
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Ving 2 1% 3% & % Av L 85 ° Ving %3869 & B 4E 5834 o
Ex.: @ Ireally look forward to visiting your country.
= 43 B - ME W EBLS - RTUAHFH L -
We have many different products hitting the market this season.
AERMAFSZ AR E S LT -
This company is good at producing something in different sizes.
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Do you mind my absence? BERF RGN BH?
Do you mind my elesing the window? RMEPRNTEH?
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in the long run
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‘ distribute (vt.)+ to o%ﬁ*ﬂje/ﬂ\ﬁa chief  (n.) &48 ~ AE4& (adj.) EBay ft :: ps
result (vi.)+in ko~ R CEO = Chief Executive Officer el
derive (vi)+from  ft.. f§7% ; chef  (n) EH s (e
= A be derived from B #BZFHEE A ] ‘
accumulate  (vt.)(vi.) WAE >~ M ; [ £ 70471
3 simultaneously = (adv)) (@& ~ EF 4t
©® 5 , all these factors will go into a vicious circle, making an economy j :lemn;‘;vely EZ:K; gzzmiﬁa;‘gfmd
weaker. closely (adv.) fF8Aitt & clo‘s’ee(:ZvJ).) gﬁaﬂ?
5. (A)Otherwise  (B) That is to say (C) In view of this (D) Eventually : '
(GEZIED J ® Also, the federal government sought a balanéed budget, 9 taxes from bein
eventually  (adv.) &% ~ &R#& otherwise (adv.) ZHaI cut and/or overspending. All of these determinants 10— e:lecline in demanfl
= finally inview of this ~ (adv.) AU and thus to deflation. -
= wultimately 9. (A) prevented  (B) preventing  (C) which prevents (D) prevent L
= atlast ’ * thatis to say (adv.) ®HRR 10. (A) broughtin  (B) consisted of (C) contributed to (D) agreed with 4
= atlength ’ = thatis [okmir) 2 aha e ) :
LE = in the end = in other words O Fhdda ‘
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© Deflation can be caused by competition among producers of goods and servwes
to 6 sales by reducing their prices. But weak demand for goods and

services is the chief cause of almost all historical periods of deflation. In the

United States during the Great Depression, several forces acted ~ 7 toreduce

demand.
6. (A)dwindle (B) dispel (C) boost (D) implement O lemE s MEsRERR  EEEH - AT o
7. (A) simultaneously  (B) tentatively  (C) amply (D) closely Ex.:® Because Chien-tien did not know what to do, he just watched Iris go awa
[ %2047 ) B AT o83 BB O mmeFesg 23 Ins £7 - g

= Not knowing what to do, Chien-tien just watched Iris g0 away.
©  Because he does everything in his own way, he is criticized by his colleagues
as vi/ell as his boss. Bt LEER — BIT > #eAR R Fo £ B HL3T -
Doing everything in his own way, he was criticized by his

colleagues as well as his boss.
8

dwindle (vi) &> > Y

dispel (vt.) BEBi2 - BE
complement (n.)(vt.) # T

boost (vt.) ffo~ 1R ~ 28
implement  (vt.) $A{T = supplement
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